upr nr ZAP/0196/POOD/12

arch. Olha Tarasiuk
mgr inz. Michat Dutka

w Swinouijsciu - odcinek od ul. Wyspowej do ul. Pomorskie
Projektowat :

Profil podtuzny

Projektowata :

1:100/500
VI 2023

ZAGOSP.

rysunku / nr
Skala :

Obiekt

Nazwa
Branza :
Data :

W30
L:21.396m
R: 800.000m
T:0.072m

d 2+100

W29
L: 45.622m
R: 1500.000m

d 2+000

W28
L: 19.597m
R: 800.000m
T:0.060m
D:-9.798m

wa7
L: 26.905m
R: 2000.000m
T:0.045m
D:-13.452m

d 1+900

W26
L: 21.681m

d 1+800

W25

W24
L: 16.143m

W23

W22
L: 11.391m

W21

L: 13.804m

W20
L:10.647m

W19

L: 13.299m

W18

L: 16.764m

W17

L: 15.546m

(P 2+149

d 1+700

d 1+600

d 1+500

d 1+400

d 1+300

d 1+200
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